retributed of Jammy and Kashmir OFFICE OF THE SUPERINTENDING ENGINEER. JAL SHAKTI DEPARTMENT HYDRAULIC CIRCLE DISTRICT BLA/BPR HQ SOPORE

Member Secretary District Jal Jeevan Mission Baramulla/Bandipora

Email:sehydbla@gmail.com

M.S. - Mohammed Shafi Dar

5/o:- Chulam Mohmmad dar

Rio- Qamarwari Srinagar.

GST No:-OI ALAPDS890Q1ZY

Regd No:SE/HYD/BUD/2008-09/AAY/143/Civil/Sanitary.

Advertised Amount: ₹178.38 loc Allotted Amount:- \$1,76,24,873.00 Major Head:-4215-JJM Time of completion: 150days

ORDER No: 26/SE/HYD/SPR/JJM of 2022-231

Dated: - 3-2 -2023

Subject: Fixation of Contract for:

WSS Maghualpora Tantraypora by way of laying Fitting of Raw Water Main, Supply Main, Sub main & distribution system at various spots including Construction of Anchor blocks/Saddle Blocks at spots under JJM(Tender ID:2022_PHE_182201_1)

Reference:

- Executive Engineer FBI Division Tangmarg's e-NIT No 34 of 2022-23 dated: 02-08-2022 issued under endorsement No. FBID/CC/3504-14 dated 02-08-2022.
- Revised District Action Plan of District Baramulla approved by DJJM vide no: DDCB/3929 dated: 30-07-2022
- 3 Minutes of Meeting held with District Development Commissioner Baramulla (Chairperson DDJM) on 23/5/2022 minutes issued vide letter No DDCB/Meeting/2022/1214-44 Dated: 24/5/2022 and No DDCB/2022/ 1248-70 Dated. 26/5/2022 thereafter vide letter No. DDCB/ 2022/1725-28 Dated 04/06/2022
- Administrative Approval Accorded vide Government Order No:- 277-JK(JSD) of 2022 Dated:- 29-12-2022 issued under endorsement No: JSD-PS/8/2022-PLG(7019739)
- Technical Sanction issued by Chief Engineer Jal Shakti (PHE) Department Kashmir's Order No CE/PHE/DB/804 of 01/2023 Dated 19-01-2023.
- Minutes of Meeting of District Contract Committee circulated vide No SE/Hyd/JJM/9684-96 dated: 02-11-2022.
- Amendment in operational guidelines for the implementation of Jal Jeevan Mission issued by NJJM, DDW&S ministry of Jal Shakti GOI vide F. No W-11016/10/2022-JJM-IV-DDWS Dated: - 21-06-2022
- Modus operandi communicated by Chief Engineer PHE Kashmir Vide circular No CE/PHE/MC/DB/13745-83 Dated - 26-07-2022

Dear Sir.

For and on behalf of Lieutenant Governor of Union Territory of Jammu and Kashmir, the contract for above subject work is hereby fixed on the rates quoted and subsequently negotiated and accepted by you on Percentage rate basis as per the Annexure "A" of this allotment order with standard terms and conditions as laid down in the Annexure "B" of this allotment Order. The total cost of work shall be ₹1,76,24,873.00 (One Crore Seventy Six lac Twenty Four Thousand Eight Hundred and Seventy Three Only)

NO:- SE/HYD/JJM/ 14154-68 Dated:-3/2/2023

Copy to the:-

Superintending Engine

Hydraulic Cirele Baramulla/Bandipora

- 1 Chief Engineer Kmr. Jal Shakti (PHE) Department Srinagar for favour information 2. District Development Commissioner Baramulla (Chairperson DJJM) for favour of
- 3. Additional District Development Commissioner Baramulla (Member DJJM) for information. 4. Assistant Commissioner Development Baramulla (Member DJJM) for information.
- Divisional Forest officer Baramulla (Member DJJM) for information. Chief Planning Officer Baramulla (Member DJJM) for information.
- 7 Chief Medical Officer Baramulla (Member DJJM) for information.
- 8 Chief Educational Officer Baramulla (Member DJJM) for information. 9 District Social Welfare Officer Baramulla/District Tribal Welfare Officer Baramulla (Member
- 10. District Information officer Baramulla (Member DJJM) for information.
- 11 Executive Engineer FBI Division Tangmarg [Member DJJM] for information and necessary 12 Executive Engineer Jal Shakti PHE Mech. Division North Sopore (Member DJJM) for
- 13. Executive Engineer Ground Water Division Sinnagar (Member DJJM) for information.

Maghualpora Tantraypora by way of laying Fitting of Raw Water Main, Supply Main, Sub main distribution system at various spots including Construction of Anchor blocks/Saddle Blocks at spots under JJM(Tender 1D:2022_PHE_182201_1)

	Annexure "A" with Order No 26SE/HYD/I	M of 20	22-23 Dat	ed: 7 - 1-	2022
. No		Units	Quantity	Alloted Rate	
1	Dismantling G1 pipes (external work) including excavation and refilling trenches after taking out the pipes, includingly/by mechanical means including stacking of pipes within 50 meters lead as per direction of Engineer-in-charge;	RM	1500.00	₹ 98 45	7 1,47,681.30
101	Above 40 mm nominal bore				
	Earth work in growing	RM	1500.00	f 109 32	1 1,63,983.30
2	trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto disposal of surplus excavated earth and disposal of surplus excavated earth as directed:	cum	11793.00	₹ 430.77	₹ 50,80,047.02
2.01	Ordinary rock				
	Laying in position centrifugally cost (spun) iron	cum	2957.50	₹ 956 24	₹ 28,28,067.38
3	cost of pipe) or nanged pipes (excluding	Qtl	5253.20	₹ 242.60	₹ 12,74,444.18
4	Providing push-on-joints to Centrifugally (Spun) Cast Iron Pipes or Ductile Iron Pipes including testing of joints and including the cost of rubber gasket: 200 mm dia DI	Joint	728.00	₹210.44	₹ 1,53,203.23
4 01	150 mm dia DI				
4.02	100 mm dia DI	Joint	637.00	₹ 142.96	₹ 91,067.81
5	Laying and fitting of G.I. pipes (all classes) complete including cost of pipe specilas but excluding cost of pipes & Earth work: 80 mm dia GI	Joint	3550.00 3900.00	₹ 88.82	₹ 3,15,315.26 ₹ 2,81,476.26
5.01	65 mm dia GI				101,470.20
5 02	50 mm dia GI	RM	1200.00	₹ 72 17	₹ 86,608.08
5.03	40 mm dia GI	RM	3600.00	₹ 40.31	₹ 1,45,117.44
5 04	25 mm dia GI	RM	6600.00	₹ 40.31	₹ 2,66,048.64
5 05	20 mm dia GI	RM RM	5500.00	10020	₹ 1,66,552.10
5.06	15 rnm dia GI	RM	7400.00 3000.00	120.01	₹ 1,48,051.80
	Making connection of G.I. distribution branch		3000.00	₹ 20.01	₹ 60,021.00
6	with G.I. main of following sizes by providing and fixing Tee, including cutting and threading the pipe etc. complete: 25 mm - 40 mm	NO.	100.00	₹ 658.26	₹ 65,825.50
01	50 mm - 80 mm	NO.	50.00	₹ 1,253.53	26262625
7	Providing and fixing of MS Flanged joints (12mm Thick) CI/DI pipes Incl. cutting of pipes, welding charges. Cost of rubber gaskets, bolts nuts including testing of joint and all sort of carriages Complete Job: 100 mm dia GI			1,200.00	₹ 62,676.25 ₹ 4,50,528.00
7 01	80 mm dia GI	Joint		2 1,086 80	₹ 54,340.00
.02	50 mm dia GI	Join	50.00		
8	Welding charges of leakag spots/sockets/tees/bends for Gi pipes includin carriage of welding machine and DG Set upto sit of work including steel strips complete joincluding earth work in excavation and refilling of trenches complete job. 25-100 mm GI	g c do Job	200.0	00 ₹494.00	

da -

¥ ..

Superintending Enginee

Maghualpora Tantraypora by way of laying Flitting of Raw Water Main, Supply Main, Sub-main stribution system at various spots including Construction of Anchor blocks/Saddle Blocks at under JJM(Tender ID:2022_PHR_182201_1)

	Annexure "A" with Order No.26 SE/HVD	/IIM of 2	022.23 Dat	nd. 97 5 .	2022
		111111111111111111111111111111111111111	722-23 Ditted 1-363-3-2023		
5 50		Units	Quantity	Alloted Rate	Amount
9	Providing and fixing of MS Bends fittings viz benda of suitable degree, tees, collurs etc to be fubricated from 6mm nominal size MS plate as per the requirement of site with anti-corrosive red oxide primer complete job	Кgʻя	050,00	₹ 146.05	t 94,930.00
10	Filing available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20 cm in depth, consolidating each deposited layer by ramming and watering, lead upto 50 m and lift upto 1.5 m.	Cum	13209.00	₹ 196.32	₹ 25,93,132.76
11	Providing fixing of approved brand ISI mark gun metal regulating valves including all carriages upto working site complete 100mm Dia Gate Value	NO.	4.00	₹ 7,904.00	t 31,616.00
11 01	The state of the s	NO.	3.00	₹ 1,550.02	₹ 4,650.07
11 02	The state of the s	NO.	4.00	₹ 931.44	₹ 3,725.75
11.03	- mide	NO.	5.00	₹ 696.24	7 3,481.22
12	Providing fixing DI Sluice Valve (with cap) complete with bolts nuts, rubber insertion etc the tail pieces if required will be paid seperatly confirming to IS: 14846 read with latest amendments. 200 mm Sluice Value	NO.	3.00	₹ 31,317.62	₹ 93,952.87
1201	150mm Sluice Value	NO.	3.00	₹ 20,000 08	₹ 60,000.25
12 02	100mm Sluice Value	NO.	4.00	₹ 13,006.03	₹ 52,024.13
13	Construction of surface boxes for regulative valves incld. Earth work concreting Angle iron frame and MS TOP Lid incd. All carriages. (as per requirement at site)	NO.	15.00	₹ 6,916 00	₹ 1,03,740.00
14	Providing and laying hand packed stone solling 50 mm nominal size including filling spreading dressing ramming all leads lifts including all carnages complete job	Cum	12.00	₹ 1,304 16	₹ 15,649.92
15	Providing and laying in position cement concrete of specified grade including curing but excluding the est of centring and shuttering. All work upto plinth level with: 1:4:8 (1 cement: 4 coarse sand: 8 graded stone aggregate 40 mm nominal size)	cum	8.00	₹ 4,803.50	₹ 38,427.98
6	Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with 1:2:4 mix (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size)	cum	52.00	₹ 6,387.62	₹ 3,32,156.12
7	Centering and shuttering including strutting, propping etc. and removal of form for	Sqm	324.00	₹ 259 15	₹ 83,965.38
	Foundation/footings Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete	1,83	4455.00	₹ 90.04	7 4,01,112.34
-	and binding all complete 12mm Cement plaster finished with a floating coat of neat cement of mix: 1:4 mix	Sqm	135.00	₹ 256.93	₹ 34,685.47 ₹ 18,347.16
) [of neat cement of mix. P/F of nuts and bolts of differnent sizes		200.00	₹ 91 74	

Technical Officer

Superintending Engineer

Hos.

A SC Maghinalpora. Fantras pora by way of laying Fifting of flaw Water Main, Supply Main, Sub-main is distribution system at various spots including Construction of Anchor blocks/Saddle Blocks at spots under DM(Tender 10:2022-PHE 102203-1)

	Annexure "A" with Order Nop/SE/HVD,	A lo MIIV	022-21 Dat	ed a training of	2023
	hiem be scription		f f		-
10		linits	the rutty	Allistad Para	Amaunt
72000	Easile of the Country of black topped surface with hard cress pooling WIM Surface and relating of band cress material and alaxing of consects performs mode and of maccadamy semidence for a conseal of unserviciable material within lead of 100 butes.	Mg	Japan tau	f 404 99	00 000,RA, t' 1
::	cathogo of materials from source to road site of work by mechanical transport inclinding booling unifording and stacking Sand for an average lead of 50 km	t um	2100	169191	1 20,047.00
: 01	Stone aggregate 20 mm for an average lead of 10 km	Cam	47 80	12/14/5	/ 13,263.68
::0:	Stone orgregate 40 mm for an average lead of 10 km	Cum	7 20	7 301 62	12,171.63
2 03	Cement/steel for an average lead of 20 km	MT	19 00	1 440 61	18,371.53
: 04	200 mm dia DI pipes. for an average lead of 10 km	RM	4000.00	1 15 44	1 65,763.26
:: 05	150 mm dia DI pipes, for an average lead of 10 km	RM	3500.00	e 10 10	1 35,352.86
22.06	100 mm dia DI pipes, for an average lead of 10 km	RM	19500,00	1 B G6	¢ 1,18,090.95
22 07	Of pipes for an average lead of 10 km	MT	97.34	₹ 246 66	£ 24,009.66
23	Carriage of materials from road site to actual site of work by Manual Labour Including loading, unloading and stacking for an average lead of 500 metre. Sand & Stone aggregate.	Cum	76,80	₹ 613 75	t 47,136.19
23 01	Stone aggregate 40 mm	Cum	7.20	₹ 663 50	£ 4,777.17
23 02	Steel	MT	4.00	₹ 598 69	1 2,394.75
23 03	Cement	MT	15.00	₹ 278 71	₹ 4,180.65
23 04	200 mm dia DI pipes.	RM	4000.00	₹ 20 08	₹ 80,306.62
73 05		RM	3500.00	₹ 13 37	₹ 46,805.76
23 06	100 mm dia Di pipen	RM	19500.00	₹ 9 49	₹ 1,85,001.77
23 07	GI pipes	MT	97.34	₹ 351 43	₹ 34,207.87

(One Crore Seventy Six lac Twenty Four Thousand Eight Hundred and Seventy Three Only)

12- Traitsman

Technical Officer

SuperIntending Engineer
Hydraulic Cycle Baramulia Bandipora

H.Q Sopore



Government of Jammu and Kashmir OFFICE OF THE SUPERINTENDING ENGINEER.

JAL SHAKTI DEPARTMENT HYDRAULIC CIRCLE DISTRICT IILA/IIPR II Q SOPORE

Member Secretary District Jal Jeevan Mission Baramulla/Bandipora

Emallisehydbla@gmall.com

Annexure "B" with ORDER No; 26 /SE/HYD/SPR/JJM of 2022-23 Dated: 3 /02/2023

Terms and Conditions

- The work is executed strictly as per approved design / drawing, specifications and JJM Guidelines. Any deviation or change in proposal/location is subject to the prior approval from
- The Executive Engineer will draw the formal agreement with the contractor within 07 Days
- The rates allotted are inclusive of all taxes applicable as per norms amended by competent authorities from time to time. Labour cess and royalties shall have to be borne by the
- 4 The execution of work shall be subject to check by the third party monitoring agency (TPIQM)
- 5 The date of start of the work shall be reckoned from 07days of issuance of LOI/Allotment
- The executing agency/contractor shall be bound for satisfactory performance of the work for 18 months after the successful Commissioning of subject work and will have to make a trial run of the work for a period of 03 months to the best satisfaction of the department.
- The Defective Liability Period shall be for a period of 12 Months which shall commence after the successful completion of the Trial Run.
- 9 The total cost of work shall in no case exceed beyond of ₹1,76,24,873.00 (One Crore Seventy Six lac Twenty Four Thousand Eight Hundred and Seventy Three Only)
- 10 In case the contractor fails to execute the work, the work shall be put to fresh tenders on the risk and cost of the contractor & the excess cost if involved shall be recovered from the contractor and strict action as warranted under contractual obligation shall be taken against
- 11 The time of completion of the work is reckoned 150-Days (One Hundred Fifty Days) as per
- 12 The bidder shall furnish a performance security equivalent to 03% of the value of the contract within one week of the issuance of allotment order in the shape of CDR/FDR/Bank Guarantee, valid for a period of 24 Months, which shall be released after successful fulfilment of the laid
- 13 Geo Tagged Photographic evidences of the work; pre-execution, during execution and post execution should be maintained by the agency on his own expenses.
- agency/contractor requirements/specifications detailed in the relevant/applicable IS codes.
- 15 The tests for concrete and allied materials shall have to be carried out at reputed institute as per directions of Engineer in-charge and the charges for the same shall have to be borne by guidelines issued by competent
- the executing agency/contractor. 16 All Environmental norms, labour laws and all other
- 17. All other terms & conditions as laid down in the standard bidding document, PWD form-25, GFR-2017 and manual of procurement of works 2019 shall remain in force.

Superintending Engine Hydraulic dircle Baramulla/Bandipora H.Q Sopore.